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1. Solve this proportion:

L=2012%

2. Iftwo angles of a triangle measure 70° and 81°, find the
measure of the third angle.

09°
(as-' P S\’
3. Solve for C: 0.1310=cos C

&2 50 =C

The Law of Sines and Law of Cosines

Law of Sines - gy 4 sin B sin

a b C
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Ex1  Solve fora and b.

Ex2  Solve forx and y.
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Ex3  Solve forf.

2
CQ-:. a?)—b —’Je\l:uas C

F=yss
F~¥¢sg

Law of Cosines - .2 _ g2 | .2 9p e 4
b*=a”+¢" —2accos B

¢t =a*+b*—2abcosC
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Ex. 4 Solve fora.

5
a
35°
O\’Z 2 - 17
=5 I _D'S'l7'(OSSS°
2
QA = 2/6. Y5
A Iy Y
Ex.5 Solve the triangle. B
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B

Ex. 6  Solve the triangle.
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